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i 44, 044][ 108, 682] 53, 436] 55, 246 -4 -61 19 87 68| —80] 383] 463 o] 142 142
FL—TH 651 1,477 718 759 4 3 0 0 0 -3 2 5 6 6 0
Sl —TH 488 1,294 642 652 1 4 -2 0 2 2 8 6 4 4 0
FLIL=TH 433l 1,015 492 523 1 2 -1 0 1 3 4 1 0 3 3
FILAE 1,572 3,786] 1,852 1,934 6 9 -3 0 3 2 14 12 10 13 3

s a—T1H 465[ 1,078 503 575 1 -2 -1 0 1 -2 7 9 1 1 0
MR TH 741 1,931 938 993 0 -2 -1 1 2 0 7 7 -1 0 1
o n—TH 459| 1,151 562 589 1 3 0 0 0 1 2 1 2 4 2
g AMNT H 398l 1,003 503 500 1 4 2 2 0 0 5 5 2 4 2
A E N 542 1,319 644 675 2 4 0 1 1 2 2 0 2 2 0
g T H 214 495 240 255 1 0 0 0 0 4 5 1 —4 0 4
o ntTH 652 1,668 836 832 4 -1 0 1 1 -2 5 7 1 2 1
s J)\TH 386 855 416 439 0 0 0 0 0 0 1 1 0 0 0
gL T H 575 1,457 756 701 3 6 1 2 1 5 8 3 0 2 2
- A e 4, 432[l 10, 957] 5,398] 5,559 13 12 1 7 6 8 42 34 3 15 12
w1 H 329 837 418 419 -3 -5 1 1 0 —4 1 5 -2 0 2
WA T H 911 2,144 1,070 1,074 -2l -11 -3 0 3 -5 2 7 -3 2 5
WA =1 H 659 1,598 794 804 -2 -3 -1 0 1 1 7 6 -3 0 3
K A 1,899 4,579 2,282 2 297 -7l -19 -3 1 4 -8 10 18 -8 2 10
Mk -1 H 524 1,264 623 641 -3 -8 -2 0 2 -5 0 -1 0 1
kA T H 326 801 432 369 2 5 1 1 0 3 5 1 1 0
MR =1 H 238 552 287 265 0 -3 0 0 0 -3 2 0 1 1
sk AT H 512 1,254 641 613 0 -5 -1 1 2 -3 2 -1 0 1
B e 1,600 3,871 1,983 1,888 -1 -11 -2 2 4 -8 9 17 -1 2 3
1H 5557 333 989 450 539 -3 -6 -1 0 1 -7 3 10 2 2 0
HaE ) — T H 154 395 194 201 1 1 0 1 1 0 1 1 1 1 0
WA T H 415 980 480 500 1 3 -1 1 2 -1 4 5 5 5 0
WA =T H 648l 1,692 833 859 1 1 -1 0 1 2 5 3 0 0 0
ARSI T H 667)| 1,760 871 889 2 4 1 1 0 3 5 2 0 1 1
HER AT H 389 937 470 467 0 4 1 1 0 2 5 3 1 1 0
HOEEO ST H 394 1,003 487 516 -2 —4 0 0 0 -3 1 4 -1 0 1
HERIE T H 611 1,488 726 762 —4 —6 1 2 1 -9 2 11 2 3 1
HOEID AR 3,278l 8,255] 4,061| 4,194 -1 3 1 6 5 -6 23 29 8 11 3
[EpEES Ul 1,478 3,214 1,523 1,691 -5  -18 0 3 3l -19 2 21 1 2 1
FSIAR 312 738 371 367 -1 4 2 2 0 2 4 2 0 0 0
B —T H 450 1,039 501 538 -1 -3 0 1 1 -2 1 3 -1 0 1
EEA T 215 479 246 233 -1 0 0 0 0 -1 0 1 1 2 1
EEA =T H 505 1,214 606 608 1 2 1 1 0 0 1 1 1 5 4
BRI YT H 535 1,146 578 568 —2 -1 3 3 0 -2 2 4 -2 1 3
EEA T T H 210 568 282 286 1 5 2 2 0 1 1 0 2 2 0
EEA A3 | 1,915 4, 446] 2,213| 2,233 -2 3 6 7 1 -4 5 9 1 10 9
EEP AR — T H 592 1,319 623 696 3 0 -1 0 1 0 4 4 1 3 2
EEPAART T H 595| 1, 364 641 723 -3 0 1 1 -4 10 14 1 1 0
EESOARTSER | 1,187 2,683] 1,264| 1,419 5 -3 -1 1 2 -4 14 18 2 4 2
HR 281 897 471 426 -2 -7 -3 0 3 -2 0 2 -2 0 2
HAR—TH 620 1,592 791 801 1 -1 1 1 0 -3 1 1 0
WHR—TH 1,454 3,547 1,721 1,826 -7l -19 -1 2 3 -5 13 18] -13 0 13
HHR=TH 836 2,292 1,151 1,141 —6 -7 -2 0 2 -5 1 0 0 0
HFHIRIUT H 461 1,137 545 592 2 4 0 0 0 -1 1 5 5 0
HHIRAEL 3,371 8,568] 4,208] 4,360 -10] -23 -2 3 51 -14 18 32 -7 6 13
JEHR—-TH 611 1,487 737 750 0 8 4 5 1 2 2 3 1
JLHR_TH 795 2,084| 1,043| 1,041 -5 0 0 2 2 1 -1 3 4
JLHR=TH 407 955 497 458 -1 -5 0 0 0 -5 0 3 3
JEHIRAE 1,813l 4,526 2,277 2, 6249 —6 3 4 7 3 -2 10 12 1 9 8
HRCETHT 308 839 403 436 -1 —4 0 0 0 -1 1 -3 0 3
IS 1,478 4,896 2 259 2 637 -1 3 1 6 5 0 6 2 6 4
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FME T B 718 1,896 957 939 —4|  -12 -1 1 2 -5 4 9 -6 0 6
HAE T A 685 1,877 939 938 2 -5 -2 0 2 0 3 3 -3 1 4
e -1 B 578 1,481 734 747 2 4 -1 1 2 0 2 2 5 6 1
FMEM T A 879l 2,301 1,122] 1,179 0 3 1 1 0 1 5 4 1 2 1
ECENNE 554/ 1,354 668 686 -2 1 0 0 0 0 3 3 1 3 2
FAE /ST B 420( 1,082 529 553 2 4 -1 1 2 5 7 2 0 0 0
MEAE 3,834 9,991 4,949| 5,042 -5 —4 4 8 1 24 23 -2 12 14
VEPnS 484f 1,161 548 613 —4 —4 -1 0 1 —4 1 5 1 2 1
Hie— 1" 299 632 313 319 0 0 0 0 0 0 0 0 0 0 0
e = 549 1,336 659 677 —4 -3 1 1 0 0 —4 0 4
AN 848 1,968 972 996 —4 -3 1 1 0 0 —4 0 4
Ef—TH 296 660 329 331 9 9 2 2 0 9 72 63 -2 0 2
B _TH 610 1,299 653 646 -2 -5 -2 0 2 -3 4 7 0 0 0
B =TH 351 966 486 480 -2 -1 1 1 0 0 1 1 -2 5 7
A 1,257 2,925 1,468 1,457 5 3 1 3 2 6 77 71 —4 5 9
e —-1H 413 999 484 515 0 -2 0 1 1 -3 0 3 1 1 0
e _~TH 395 1,050 519 531 1 -3 1 1 0 3 8 5 ~7 0 7
e - TH 7170 1,851 913 938 3 6 3 3 0 3 11 8 0 1 1
HEMNT A 4351 1,066 514 552 4 9 -2 0 2 9 12 3 2 2 0
HHE T H 732 1,740 859 881 1 2 2 3 1 -3 2 5 3 3 0
HWHEANTH 216 478 237 241 -1 -3 -1 0 1 -2 1 3 0 1 1
K EEE 2,908( 7,184] 3,526] 3,658 8 9 3 8 5 7 34 27 -1 8 9
<HBXIL—TH 631 1,547 766 781 6|  -13 0 0 of -12 2 14 -1 0 1
<HBXIL_TH 640 1,542 756 786 -3 -8 0 1 1 —4 3 7 —4 0 4
<HBXIL=TH 500( 1,188 606 582 1 1 2 1 0 2 2 0 0 0
<HBXLMYT H 506 1,123 559 564 7 1 1 0 2 4 2 4 5 1
SHBXILH T H 385 920 497 423 6|  -10 4 4 of -13 1 14 -1 2 3
<HBX LA 2,662 6,320] 3,184 3,136 -4 -23 6 8 ol —27 12 39 -2 7 9
W EART—T H 756 1,693 828 865 -3 —6 3 3 0 -2 4 -7 3 10
HIEART —TH 404/ 1,079 544 535 2 2 1 1 0 -1 4 2 3 1
W EART G5 1,160f 2,772] 1,372 1,400 -1 —4 4 4 0 -3 8 -5 6 11
s 445 884 441 443 0 -1 0 0 0 -3 6 2 2 0
ok a1 H 772 1,372 633 739 14 24 4 4 0 22 28 6 -2 3 5
ok A T H 348 560 269 291 -2 -2 2 2 0 -5 1 6 1 2 1
kA =TH 5931 1,591 738 853 3 3 0 -2 5 7 2 2 0
sk AT H 273 641 310 331 2 2 0 3 4 1 -2 0 2
GEIE A e 1,986 4,164 1,950| 2, 214 12 28 11 11 0 18 38 20 -1 7 8
FRIREET H 22 58 31 27 0 0 0 0 0 0 0 0 0 0
iy 7451 1,974 938 1,036 1 -1 1 2 -5 1 6 7 7 0
e 245 568 280 288 1 4 1 1 0 2 6 4 1 1 0
e — T H 341 934 488 446 -1 -8 -2 0 2 -4 0 4 -2 1 3
e — T H 275 705 345 360 2 2 0 0 0 2 4 2 0 0 0
M G R 616/ 1,639 833 806 1 —6 -2 0 2 -2 4 6 -2 1 3
a1 H 616[ 1,390 707 683 1 3 0 0 0 1 6 5 2 2 0
PafEEEE] T H 468[ 1,212 581 631 0 -1 0 0 0 0 2 2 -1 0 1
R S 1,084 2,602 1,288 1,314 1 2 0 0 0 1 8 7 1 2 1
P 257 618 313 305 -3 -3 1 1 0 -4 1 5 0 0
IR 234 610 328 282 0 -5 -1 0 1 —4 5 9 0 0




